2X6 RECLAIMED WOOD LEDGER (ROT RESISTANT SPECIES) FASTENED TO HSS W/ 0.157 @ X-U PAF @ 24" 0.C. MOUNT HSS TO EXISTING MASONRY WALL W/ 3/8" X 10" END PLATE WELDED ALL AROUND TO STEEL FRAME.
ANCHOR TO EXISTING MASONRY W/ (4) 1/2" 0 A36 THREADED ROD. EPOXY SET 6 1/2" MIN. WITH HILTI HY-70 EPOXY

2X6 RECLAIMED WOOD SLATS (ROT RESISTANT SPECIES)
FASTENED TO LEDGER W/ (2) 10D GALV. TOE NAILS — TYP.

4 1/2"TYP
HSS 6X6 STEEL TRELLIS BOLTED TO ‘ Soren deNiord Design Studio
BLADED POST SUPPORT N 43 Wellwood Road
Portland, ME
(4) PLUGWELDS IN 17@ HOLES 04103

FASTENED TO STL HSS FRAME IN FIELD T: 207-400-2450

E: soren@sorendeniord.com

STEEL BLADED POST SUPPORT
1/2" A36 PLATE (TYP.)

BOLTED THROUGH BLADE SUPPORT
SEE 2/12.1 FOR BOLT SPACING

NOTES:

1. ALL SHOP & FIELD WELDS SHALL BE GROUND, BLENDED, AND CONTOURED

2. ALL BOLT & HARDWARE FINISH TO BE CONSISTENT WITH ARCHITECTURAL UNIFORMITY

3. PROVIDE SHOP DRAWINGS FOR LANDSCAPE ARCHITECT REVIEW FOR SCREEN, POST, AND TRELLIS
4. FIELD VERIFY ALL DIMENSIONS PRIOR TO FABRICATION

6X6 RECLAIMED WOOD POST

FACE OF BUILDING

m RECLAIMED POST / TRELLIS (NORTH SOUTH SECTION)
SCALE: 1 1/2°=1"-0" U
L3.1
r-—————--" - -~ -~ -~ =-" - - -—" """ “=—"“="""7=-—"=-=7 1 Z
I i I [ ]
I I
I I
6X6 RECLAIMED WOOD POST BEYOND — ROT RESISTANT SPECIES | |
- | 1/4” CORTEN STEEL SCREEN m
| | l ' 0
RECLAIMED 2X10 — ROT RESISTENT SPECIES | | RECLAMED 2X10 — ROT RESISTANT SPECIES |
ATTACHED TO STEEL BRACKET FROM BELOW | I_ _________________ _I ATTACHED TO STEEL BRACKET FROM BELOW I ( n
| | I 10" I o
I | | I m =)
| _ | 1/4” STEEL SCREEN BOLTED T0 3X3 STEEL POST : N : LL)
| | WITH 3/8” CARRIAGE BOLTS N I Ll'_J
CUSTOM STEEL BRACKET WELDED TO POST I | FIELD DRILL HOLES FOR ALIGNMENT OF CARRIAGE BOLTS ' N R | |_ )
(SEE ENLARGEMENT) I | SEE L2.0 ELEVATIONS FOR DRILL HOLE LOCATIONS | 7 I | D
| | | 2 i vk I O —
R e | | | LED STRIP LIGHT — ROUTE OUT * B | m =
W4 X 13 CORTEN STEEL IBEAM | 1/4” X 3" CORTEN STEEL BRACKET WELDED ' @)
| TO WA X 13 CORTEN STEEL IBEAM ) | m o
I I )
| W4 X 13 CORTEN STEEL IBEAM | —d CZD L
6X6 RECLAIMED WOOD POST — ROT RESISTANT SPECIES o ) | I =l D <ZE
¥ i L o ____ I O | LLl o =
% W =g
BRACKET ENLARGEMENT Ol Z
1/2” TYP. A36 PLATE ) Tl
[ ]
—| o
W+ / m < 8
(2) 5/8" CARRIAGE BOLTS PROPOSED GRADE
N, =T mr-"-""" T e e e e e e e e e
STEEL BLADED POST SUPPORT | | r g 1 I
. BOLTED TO WOOD POST | P —-—-—-—--- — | No: Revision Date:
| o | | | \
- | | I 0, 10" DIAMETER CONCRETE BASE. 4000 PSI / 28 DAY I A PERMIT SET  3/01/17
1/2" GROUT BED = I =l = I | / | A
4 4 | | I I :
ANCHOR BOLT WITH THREADED ROD 1/2 GROUT BED | / | | o o 1/2” SQUARE CORTEN BASE STEEL PLATE WELDED TO 4X4 IBEAM | /\
ABOVE BASE NUTS WITH LEVELING WASHERS | | I - ” ) IXA Wa X 13 CORTEN STEEL [BEAM I /\
) (4) 5/8" @ X 12" THREADED ROD A.B. : i \0< / (4) 3/4” HOLES : \\
, 12" SONOTUBE | ' | /\
A Y (2) #5 VERTICALS A Uz | 6 |
P 10" SONOTUBE I - T . o ______ d revisions:
date:MARCH 1, 2017
- A . scale: As Noted
POST PLAN VIEW drawn: 5K
checked: SD
4, NOTES:
g 1. ALL SHOP & FIELD WELDS SHALL BE GROUND, BLENDED, AND CONTOURED
4 ¢ 2. ALL BOLT & HARDWARE FINISH TO BE CONSISTENT WITH ARCHITECTURAL UNIFORMITY
) - 1P 3. PROVIDE SHOP DRAWINGS FOR LANDSCAPE ARCHITECT REVIEW FOR SCREEN, POST, AND TRELLIS
4, FIELD VERIFY ALL DIMENSIONS PRIOR TO FABRICATION

m TIMBER POST DETAIL m SCREEN POST DETAIL |

L3.1 SCALE: 1 1/2"=1"-0" L3.1 SCALE: 1 1/2"=1"-0" PERM'T SET
NOT FOR CONSTRUCTION DETAILS




